

SHRI JAGANNATH TEMPLE OFFICE, PURI

No -2777

Tender Call Notice No. 05 /22

Sealed tenders in prescribed tender schedule is invited from the empanelled contractors of Shree Jagannath Temple, Puri for the work "A/R to Narendra Tank for the forth coming Chandan Yatra of Shree Jagannath Temple for the year 2022-23." at an estimated cost of Rs. 2,93,426.00/-.

The tender schedules are available at Temple Office, Puri for sale with a tender paper cost of Rs.2,000/- which is non refundable.

The tender paper duly filled along with photocopies of PAN card /GST clearance certificate and EMD for Rs. 3,000.00/- only should be properly sealed and dropped in the tender box on or before 04.04.2022 up to 4.00 P.M. at Shree Jagannath Temple Office, Puri. The tenders will be opened at 5:00 P.M. on the same day in presence of the participants or their authorised representatives.

The EMD may be enclosed in shape of D.D. drawn in favour of the Chief Administrator, Shree Jagannath Temple, Puri or cash deposited in Temple Office for the required amount enclosing the money receipt.

Incomplete offers are liable for rejection. The authority reserves the right to accept / reject any or all the tenders without assigning any reason thereof.

> Administrator (Dev.) Shree Jagannath Temple, Puri

Memo No:-E127_2778

Memo No:-E127 2+78

Date 29 3 2 2

Copy forwarded to all empanelled contractors of Shree Jagannath Temple Office, Puri for information with a request to participate in the tender.

> Administrator (Dev.) Shree Jagannath Temple, Puri

Memo No:-E127 2779

Jagannath Temple Office, Puri for information and necessary action.

Copy forwarded to Computer Programmer for for publication of Tender Gall Motice in Temple website for wide circulation.

> Administrator (Dev.) Shree Jagannath Temple, Puri



SHREE JAGANNATH TEMPLE OFFICE, PURI

TENDER DOCUMENT

Name Of Work:- " A/R to Narendra Tank for the forth coming Chandan Yatra of Shree Jagannath Temple for the year 2022-23."

EMPLOYER

CHIEF ADMINISTRATOR
SHRI JAGANNATH TEMPLE,PURI

Terms and Conditions

- 1. The rates should be quoted in percentage of Excess/Less on the BOQ at last page.
- 2. Contractor will be responsible for payment of royalty and all other taxes as per Governmen norms. GST will be paid extra on the bid amount.
- 3. The tenderer has to furnish attested true copy of contractor's license, GST Registration certificate and IT Pan Card along with the tender failing with the tender is liable for rejection.
- 4. No Departmental materials will be supplied to the contractor for the work.
- 5. Every tenderer is expected to inspect the site for the proposed work before quoting his rate.
- 6. Conditional tender is liable for rejection.
- 7. Letter etc. found in the tender box for raising or lowering of the rates in connection with the tender will not be considered.
- 8. No escalation will be paid due to rise of materials and labour rates.
- 9. Under no circumstance interest is chargeable for dues payable if any for the work to the Contractor.
- 10. Additional performance security shall be deposited by the successful bidder when the range of difference between the estimated cost put to tender and the bid amount is below 5% No APS from 5% and above and below 10% 50% of the differential cost & from 10% and above- 150% of differential cost of bid amount in shape of DD in favour of Chief Administrator, Shrew Jagannath Temple, Puri.
- 11. In case of backing out any by any Contractor, the EMD deposited along with the tender will be forfeited.
- 12. In case delay in work due to any unavoidable reason, the contractor should immediately bring the notice of the Temple Administration in writing which may be considered for extension o agreement period.
- 13. The Contractor should arrange at his own cost necessary tools and plant required for efficien execution of the work and rates quoted should be inclusive of the hire and running charges o such plants and cost of consumables.
- 14. Subletting of the work is not allowed.
- 15. The Contractor will abide by the fair wages clause as introduced by Government of Odisha.
- 16. For the purpose of jurisdiction in the event of dispute if any the contract should be deemed to have entered from state of Orissa it is agreed that neither party to this contract nor the agreement will be competent to bring suit at any place outside State of Odisha.
- 17. The tenderer shall have to abide by the CPWD safety code introduced by Government o India.
- 18. The contractor should be fully liable to indemnity the department for any compensation unde workmen Compensation Act.
- 19. All the items of work executed should confirm to the OPWD code specification.
- 20. During execution of work the instruction of authorized Engineers of Temple Administration should be meticulously carried out.

Signature of Contractor

Addl. Chief Engineer

Signature of Employer

CONTRACT DATA

1. Name of Work : A/R to Narendra Tank for the forth coming Chandan

Yatra of Shree Jagannath Temple for the year 2022-23.

2. Employer : Chief Administrator

Shree Jagannath Temple, Puri

3. Authorised Person : Administrator (Development)

hree Jagannath Temple, Puri

4. Authorised Engineer : Executive Engineer (Works)

Shree Jagannath Temple, Puri

5. a)Amount of EMD : 1% of the amount put to tender

b)Amount of ISD : 1% of the approved tender amount

6. Period of bid validity : 90 days

7. Retention Money : 5% from each bill.

8. Date of commencement : Issue of notice to proceed with work

9. Time period : One month

10. Amount of liquid damage for

Delay in completion of work : Rs.500/- per day limiting to 2%

of the work value

11. Defects liability period : One year

12. Deduction from bill : IT, Labour cess, Royalty and other taxes

as applicable

13. Percentage deduction

for incomplete work : 20% of the amount of balance work

BILL OF QUANTITIES

Name Of Work:-A/R to Narendra Tank for the forth coming Chandan Yatra of Shree Jagannath Temple for the year 2022-23.

Estimated Cost: Rs. 2,93,426.00/-

Last date and Time of receipt of Tender Schedule : Dt : 04.04.2022 up to 4.00 P.M.

NO.	를 가지 않는데 및 (1000 MBC) 전문 전문 전문 전문 (1000 MBC) 그리고 있는데 있는데 있는데 있는데 없는데 있는데 없는데 있는데 없는데 없는데 없는데 없는데 없는데 없는데 없다.	UNIT	QUANTITY	RATE IN FIGURES		AMOUNT	
1	Dismentaling brick masonary or stone masonary in lime & cement mortar under 3.00mtrs height and stacking the useful materials.	Cum.	0.38	₹	1,098.91	₹	417.59
2	Dismentaling and removing Doors, Windows & Ventilators including removal of frame hinges fastening \$ stacking the useful materials for reuse and removing the debries 50 mtr	sqm	1.36	₹	315.62	₹	429.24
3	Providing Fitting fixing of G.I. GRILL Pipe/ Angle/ Flat With Cutting ,welding ,placeing febricating and erecting the same with cost, conveyance, taxes of all materials, labour, T&P etc. required for the complete in all respect.(Make- TATA, Jindal.Bhusan)	kg	69.72	₹	142.56	₹	9,939.28
4	Dressed seasonal sal wood work framed fitted & fixed in frames of Door & Window etc all complete.	Cum.	0.16	₹	50,560.39	₹	8,089.66
5	25 mm thick Local teak Wood ledged, braced and planked 25 mm thick ledged & braced & 25 mm thick Plank shutter completed with iron fittings wooden hinges cleats etc fitted in position including all labour charges.	sqm	3.240	₹	3,325.64	₹	10,775.07
6	12mm thick in C.P.(1:6) over brick masonary to the smooth surface including all costs etc. complete.	sqm	111.81	₹	142.55	₹	15,938.52
7	Removal of Old cement plaster from wall including racking out joints etc all complete.	sqm	111.810	₹	39.34	₹	4,398.61
8	Removing the old Grading plaster from roof cleaning the surface, lowering & removing the debris within 50 mtr lead.	sqm	9.120	₹	60.98	₹	556.14
9	2.5 cm thick Grading Concrete with C.C. (1:2:2) over new roof slab using 6mm size c.b. chips including cost carriage of all materials labour T&P etc. complete.	sqm	9.120	₹	300.91	₹	2,744.30
10	Fly ash Brick masonary in Superstructure in C.M. (1:6) including all cost etc. complete.	Cum.	3.59	₹	4,377.69	₹	15,715.91
11	White washing two coat with shell lime including all cost etc completely.	Sqm.	3667.490	₹	11.57	₹	42,432.86
12	Providing & finishing wall surface with cement paint two coat with approved paint & approved shade(Make-TATA) by means of brush to outside surface of walls after cleaning the surface including cost, conveyance and taxes of all labour, T&P etc. complete as per direction of Engineer in charge.	Sqm.	3435.22	₹	32.34	₹	111,095.01
13	Rubbing out heavy moss from shift walls exposed to weather including T & P etc. complete as per direction of Engineer in charge.	Sqm.	7102.71	₹	0.1048	₹	744.36
	Julialyc.					₹	223 276 55

223,276.55

DESCRIPTION OF ITEM		QUANTITY	RATE IN FIGURES		AMOUNT		
Providing & finishing wall surface with painting of weather coat two coat with approved paint & approved shade(Make-Asian Paints) by means of brush to outside surface of walls after cleaning the surface including cost, conveyance and taxes of all labour, T&P etc. complete as per direction of Engineer in charge.	Sam	365.41	Before Page:-		₹	223,276.55	
			₹	71.47	₹	26,115.85	
Painting two coat with Sinthetic Enamel paint(Make-Asian Paints)after preparing the surface including cost,conveyance & taxes of labour, T&P etc. complete as per direction of Engineer in charge.	Sqm.	209.75	₹	134.76	₹	28,265.91	
Fabrication and erection of SS Beam of 316 grade using SS Channel as per approved design and specification, buffing, polishing etc with cost, conveyance, taxes of all materials, labour, T&P etc complete as per direction of Engineer in charge.	kg	29.19	₹	540.18	₹	15,767.85	
Total in Figure				Total=	₹	293,426.00	
Total in Wards	(Rupees Two lakhs Ninety Three Thousand Four hundred Twentysix only						
	Providing & finishing wall surface with painting of weather coat two coat with approved paint & approved shade(Make-Asian Paints) by means of brush to outside surface of walls after cleaning the surface including cost, conveyance and taxes of all labour, T&P etc. complete as per direction of Engineer in charge. Painting two coat with Sinthetic Enamel paint(Make-Asian Paints)after preparing the surface including cost, conveyance & taxes of labour, T&P etc. complete as per direction of Engineer in charge. Fabrication and erection of SS Beam of 316 grade using SS Channel as per approved design and specification, buffing, polishing etc with cost, conveyance, taxes of all materials, labour, T&P etc complete as per direction of Engineer in charge. Total in Figure	Providing & finishing wall surface with painting of weather coat two coat with approved paint & approved shade(Make-Asian Paints) by means of brush to outside surface of walls after cleaning the surface including cost, conveyance and taxes of all labour, T&P etc. complete as per direction of Engineer in charge. Painting two coat with Sinthetic Enamel paint(Make-Asian Paints) after preparing the surface including cost, conveyance & taxes of labour, T&P etc. complete as per direction of Engineer in charge. Fabrication and erection of SS Beam of 316 grade using SS Channel as per approved design and specification, buffing, polishing etc with cost, conveyance, taxes of all materials, labour, T&P etc complete as per direction of Engineer in charge. Total in Figure (Rupe	Providing & finishing wall surface with painting of weather coat two coat with approved paint & approved shade(Make-Asian Paints) by means of brush to outside surface of walls after cleaning the surface including cost, conveyance and taxes of all labour, T&P etc. complete as per direction of Engineer in charge. Painting two coat with Sinthetic Enamel paint(Make-Asian Paints)after preparing the surface including cost, conveyance & taxes of labour, T&P etc. complete as per direction of Engineer in charge. Fabrication and erection of SS Beam of 316 grade using SS Channel as per approved design and specification, buffing, polishing etc with cost, conveyance, taxes of all materials, labour, T&P etc complete as per direction of Engineer in charge. Total in Figure (Rupees Two lak)	Providing & finishing wall surface with painting of weather coat two coat with approved paint & approved shade(Make-Asian Paints) by means of brush to outside surface of walls after cleaning the surface including cost, conveyance and taxes of all labour, T&P etc. complete as per direction of Engineer in charge. Painting two coat with Sinthetic Enamel paint(Make-Asian Paints)after preparing the surface including cost, conveyance & taxes of labour, T&P etc. complete as per direction of Engineer in charge. Fabrication and erection of SS Beam of 316 grade using SS Channel as per approved design and specification, buffing, polishing etc with cost, conveyance, taxes of all materials, labour, T&P etc complete as per direction of Engineer in charge. Total in Figure Cuantity Sqm. 365.41 ▼	DESCRIPTION OF ITEM UNIT QUANTITY FIGURES Before Page:- Providing & finishing wall surface with painting of weather coat two coat with approved paint & approved shade(Make-Asian Paints) by means of brush to outside surface of walls after cleaning the surface including cost, conveyance and taxes of all labour, T&P etc. complete as per direction of Engineer in charge. Painting two coat with Sinthetic Enamel paint(Make-Asian Paints)after preparing the surface including cost, conveyance & taxes of labour, T&P etc. complete as per direction of Engineer in charge. Fabrication and erection of SS Beam of 316 grade using SS Channel as per approved design and specification, buffing, polishing etc with cost, conveyance, taxes of all materials, labour, T&P etc complete as per direction of Engineer in charge. Total in Figure Total in Figure [Rupees Two lakhs Ninety Three]	DESCRIPTION OF ITEM UNIT QUANTITY FIGURES Providing & finishing wall surface with painting of weather coat two coat with approved paint & approved shade(Make-Asian Paints) by means of brush to outside surface of walls after cleaning the surface including cost, conveyance and taxes of all labour, T&P etc. complete as per direction of Engineer in charge. Painting two coat with Sinthetic Enamel paint(Make-Asian Paints)after preparing the surface including cost, conveyance & taxes of labour, T&P etc. complete as per direction of Engineer in charge. Fabrication and erection of SS Beam of 316 grade using SS Channel as per approved design and specification, buffing, polishing etc with cost, conveyance, taxes of all materials, labour, T&P etc complete as per direction of Engineer in charge. Total in Figure FIGURES Before Page:- ▼ 71.47 ▼ 71.47 ▼ 134.76	

16 (Sixteen Nos Item)only

GST Extra

Percentage of Excess/Less-

Tender Amount-

No. of correction.....

No. of over writting.....

Administrator (Dev.)

Approved

Shree Jagannath Temple

Issued to Sri...., Contractor vide

M.R.No.....dtd.....

Executive Engineer Shree Jagannath Temple

Signature of Contractor

Executive Engineer

Shree Jagannath Temple

Signature of Employer

Shree Jagannath Temple